Argos and Littlewoods Price Fixing Arrangement

Questions and Answers

1. With reference to the case identify the oligopolistic features of the toy market and suggest how the toy market might differ if this had been a (perfectly) competitive environment.

Oligopolisitic market features → two dominant retailers, nature of branded product, significance of advertising → competitive market structure defined by many buyers/sellers, homogenous product, absence of barriers to entry → economic students should be encouraged to extend answer to incorporate diagrammatic illustrations.  

2. What evidence is provided in the case of collusive behaviour? More generally what are the symptoms and tests of collusive behaviour behaviour?

Collusive behaviour evidenced through price convergence of Argos and Littlewoods retail prices of selected Hasbro products to Hasbro’s RRPs  over a particular period of time when previously this had not been the case→ Other symptoms of collusion via growth of industry concentration ratio; profitability indicators; extent of contestability→ None of these are necessarily stand alone indicators and students should identify the associated limitations of each.

3. What conditions within an oligopolistic market structure make it possible for dominant firms to collude? Is collusion “cheat-proof”? 

Oligopolistic market structure and associated interdependence amongst the few big firms →collusion amongst the dominant firms through a price fixing agreement attempts to reduce uncertainty regarding the actions of others→ the greater the numbers involved the increased likelihood of detection and/or cheating by aggrieved members →What is the ideal number? Baumol suggests 4 is fine, 6 is too many→ Collusion is not cheat-proof there may be incentives to breach agreement as firms identify further opportunities to increase revenue streams, the arrangement therefore requires close co-ordination→ economic students should be encouraged to include relevant diagrammatic illustrations. 

4. Evaluate the incentive(s) of each of the parties, Argos, Littlewoods and Hasbro towards collusive conduct.

Argos potentially benefits from an increased revenue stream given its range of branches and the absence of significant price divergence from its main catalogue rival (note that this case pre-dates the rise of internet shopping); increased revenue via direct Hasbro toy purchases and through additional purchases by virtue of being in Argos→ Littlewoods face a similar gain source but of smaller volume given lower branch coverage; both parties benefit from a reduction in advertising expenditure and the need to expend on additional flyers  following evidence of rivals’ lower prices on offer via catalogue → Hasbro as the manufacturer is able to maintain its profitability through maintaining margins at close to the RRPs → This is not an exhaustive list students should be encouraged to introduce technical terms that identify the role of such concepts as inelasticity, uncertainty, game theory.

5. Assess the welfare consequences arising from their actions.

Background of competitive market efficiency to include allocative and productive efficiency→ price fixing effect on prices, output and innovation →deadweight welfare loss identified (diagrammatic illustration)→ consideration of macroeconomic dimension through inflationary and balance of payments implications→ note indirect effects through misallocation of resources.

6. Identify the direct and indirect costs of government regulation as applied through competition policy. 

Government regulation carries a commensurate direct cost through administration, monitoring and enforcement, etc → There are also indirect costs through its relative veracity in carrying out enforcement → Direct costs may be increased disproportionately through excessive regulation relative to the gains made in seeking compliance → Over-regulation may impose the indirect cost of a disincentive effect to business activity. 
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